TRIG FNTEGRALS

Most can be solved u/ substitution (I.B.P. n= , trig ID)

MAIN

TRIG IDS:

Integrals of form
$$\int \sin(x) \cos(x) dx$$

$$\int \sin(x) \cos(x) dx = \int u du = \frac{u^{3}}{a} + c = \frac{\sin(x)}{a} + c$$

$$\int \sin(2x) dx = \frac{u^{3}}{a} + c = \frac{\sin(x)}{a} + c$$

$$\int \sin(2x) dx = \frac{u^{3}}{a} + c = \frac{\sin(x)}{a} + c$$

$$\int \sin(2x) dx = \frac{u^{3}}{a} + c = \frac{u^{3}}{a} + c = \frac{u^{3}}{a} + c$$

$$\int \sin(2x) dx = \frac{1}{2} (\sin(x)) \frac{1}{2} dx = \frac{1}{4} (\sin(x)) dx = \frac{1}{4} (\cos(x)) + c$$

$$\int \sin(2x) dx = \frac{1}{2} (\sin(x)) \frac{1}{2} dx = \frac{1}{4} (\sin(x)) dx = \frac{1}{4} (\cos(x)) + c$$

$$\int \sin(2x) dx = \frac{1}{4} (\cos(x)) dx = \frac$$

single power and make that part of du

$$= \int \left[ \sin^{4}(x) - \sin^{6}(x) \right] \cos(x) dx$$

$$= \int \sin^{4}(x) \cos x - \sin^{6}x \cos x dx$$

$$= \int \sin^{4}x \cos x dx - \int \sin^{6}x \cos x dx$$

$$= \int \sin^{4}x \cos x dx - \int \sin^{6}x \cos^{4}x dx$$

$$= \int u^{4} du - \int u^{6} du = \frac{u^{5} - u^{7}}{5} = \frac{\sin^{5}x - \sin^{7}x + c}{5}$$

$$\int \frac{d^{3}x}{dx^{3}} (x) \cos (x) dx$$
odd power of cosine, strip off use the single power as du .... 4th power is a square squared
$$\int \frac{d^{3}x}{dx^{3}} (x) \cos (x) dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) (1 - \sin^{3}x)^{2} \cos x dx$$

$$= \int \sin^{3}(x) \cos^{3}(x) \cos^{3}(x) dx$$

$$= \int \sin^{3}(x) \sin^{3}(x) dx$$

$$= \int \sin^{3}(x) \cos^{3}(x) dx$$

$$= \int \sin^{3}(x) \cos^{3}(x) dx$$

$$= \int \sin^{3}(x) \sin^{3}(x) dx$$

$$= \int \sin^$$

 $\int \frac{\sin^2 x}{\sin^2 x} \cos^2 x \, dx$ =  $\int \frac{\sin^2 x}{\sin^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{\sin^2 x}{\sin^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{\sin^2 x}{\sin^2 x} \cdot \sin^2 x \, dx$ =  $\int \frac{\sin^2 x}{\sin^2 x} \cdot \sin^2 x \, dx$ =  $\int \frac{(1 - 2\cos^2 x)}{\cos^2 x} \cdot \sin^2 x \, dx$ =  $\int \frac{(1 - 2\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ =  $\int \frac{(\cos^2 x)}{\cos^2 x} \cdot \cos^2 x \cdot \sin^2 x \, dx$ 

 $= -\frac{1}{2}x + 2\frac{1}{2}x - \frac{1}{2}x + c$